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Study Checklist

This review booklet is by no means a "practice final". It is a collection of practice
questions on each unit, meant to guide your final exam studying and prepare you for the
types of questions you will see. DO NOT treat this booklet as a practice test. DO NOT go
straight to the answer key when you come across a question you cannot remember how
to do. Difficult questions SHOULD guide your study! Always look up a concept in your
class notes if you are stuck, then attempt the question again.

BEFORE beginning this booklet you should:

o read through your class notes booklet on each topic

o make your own "quick summary page" of important formulas & key concepts for the
unit

o review quizzes & tests from the unit to recall strengths & weaknesses (a greaft study
method would be to re-do old quizzes & tests on a separate piece of paper)

WHILE working through this booklet you should:

o look up concepts & example problems in your class notes when you come across a
problem you are stuck on

o make a list of "questions to ask my teacher" so you can come to class and use your
time efficiently.

Questions I'm having difficulty with:

Page Question Number # Topic




UNIT 5: RELATIONS & FUNCTIONS

MY NOTES AND THINGS TO REMEMRER...



UNIT 5: Relations and Functions Multiple Choice

1. Marbles are placed in a jar one at i time. Which graph below best represents the total mass of the jar
and marbles as the marbles are added?

©

AsCrexe doke B.

have to oA\
Who\g A b\'LS)

Total Mass
Total Mass

———

Number of marbles Number of marbles
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Number of marbles Number of marbles

2. What does the slope represent in the graph below?
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The cost C. in dollars. 1o rent a car is determined by the formula C (k)= 0.15k +22.,

where £ is the number of kilometres driven. Calculate the value of & if C(k)=166.
Answer (o the nearest kilometre.

() = 0.5k )

\be = 0.\5\% u/
-2 -0
my

0.
y%k 3 1= atom |
05 S [

Damien has a list of 37 potential customers for his house-painting business. In order to

get a business grant. he must graph his income versus the number of customers. Determine
the domain of the graph.

(i

A {0.1.2.3.}
@ {0.1.2.3, 37} Teome,
C. all real numbers GL)

D. all real numbers between 0 and 37

7
B ol W¥Xq ([ R
4

Domonn

Given the graph of y = g(f) below, determine the value of ¢ for wlu‘clz -3.

Answer as an integer. ’

. > where does yz= 37
. y=g0 wWhenN Y- A




What is the range of the graph below?

]
el MAX ¢ 4= S
it _.__.I_.. MmNy g
10 ) 5 w0 "
2 T\, 5]
-10- \ & 9 S5
X All x values between 2 and é-in_clusg .
Domoun .
X| o
() 0. 5]
@ 1€v<5
A. [lonly
B. IVonly
~ TandII only
@?} ITI and 1V only
-/ ~ D)
. . VA
Which ordered pair represents f(3)=—5?
A (-5.3) R )
(3,5

B. (—3, 5)

O 09

D. (5, —3)

The cost C, in dollars, of renting a hall for the prom is given by the formula C(n)=500+4n,

where n is the number of students attending the prom, Calculate the cost of renting the hall
if 70 students attend.

A $108 () = 500 4 Hn
$500 - ,
(<. )$780 ((70) = 500 + 4 )
- 3970 = 500 + ¥¥0

= %0



Determine the domain of the relation graphed below.

|
{ 5+ f
‘I"'-\ ,(f
- Wi N . .
~i0 =<l N 5 I x
I
| 71
| RS \
MINT -4 MAXZ)
(&) (4. 2] (omont
B [-4.2) (ot equar)  (equat)
C [=1.5)
D. [-1.5] ("L\, 33

10. Which of the following scenarios is not linear?

@ the height of a football thrown over time

the total weight of a jar of pennies as more pennies are added

C. the distance travelled by a car moving at a constant speed over time
D. the pay of a truck driver who earns $2500 a month, plus $0.50 for every kilometre he drives

11. Determine the range of the linear relation graphed below.

y

© 10+

Min -4y

+
5 1

MAY = 0O

Y=Y



12. The graph below models a bicycle’s distance from a bike shop over time.

.
|
60 - 2

—~1
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okt
b= e
QD C
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Ewm
Z o
O x

0 1 2 3 i 5
Time (hours)

Calculate the change in the speed of the bike {from segment P to segment Q.

@ decreased by 15 km/h ? - S\)QQA = U0 m - 0 ‘L"\/

B. decreased by 5 km/h IN - n

C. increased by 15 km/h

D. increased by 11 km/h QT Speed = \BHkm g wy
—_— g n
3N

13. Use the graph below to answer question 13,
Cost of Hiring an

Electrician vs. Time

T 13. What is the cost of hiring an electrician for 8 hours?
250 =+ =
° A. $550

200 ° . B.) $475
& " C. $400
g 150 ol ) P D. $275

50

100 - @

t (k)= 50t + A%
50—+
17 e =m0(%) +35
0 i > 4 5

T‘lmegl) = Y00 3%
S\ope = 50 - gq = 473y



14. Which of the following relations are also functions?

{(0.2). (1. 4). (3. 6), @5). @3). (7. -8)}
y=2u+5 f (\'\r\Q)

- - A
I1L)) | The output is 6 more than half the input. \/ L\ \ I\Q) \3 -3 Xxlb

= DS

(

il | RASSES \VAW)

-

i e el
L s

|

=

A. lonly
B. TandIV only

Il and 1IT only
D.) I [Tl and TV only ($)

15.  Jim delivers newspapers. He gets paid .10 dollars for every day of work, plus 5 cents for -yaX I \ 0
every paper he delivers. Which of the following graphs best represents Jim’s possible income \’
for one day? -
S\() e -~ 0 . () S

@ 15 % 15;:

|

Income (§)
Income (3)

5\=

5 34
[ i t t f f f t f t f
10 20 30 40 50 i0 20 30 40 50
Number of papers Number of papers
4
C. 30+ % 50 -L
4+ 454
= 40 -
e g5t
g g 30+
3 S 254
b '.s 20 -
IS5+
10+
5
5 10 15 2 25 510 15 20 25
Number of papers Number of papers



16.  The cost to insure jewellery is a fixed amount plus a percentage of the value of the jewellery.
Tt costs $32 to insure $1000 worth of jewellery or $44.50 to insure $3500 worth of jewellery.

What is the fixed amount te insure jewellery?

@ §27.0
T $31.25

n
C. $44.65 (osk WY .
D. $58.82
X0 S .
Tosiie

~\Bog R
Nelve ot TQNQ\(}

® (aXe ot (trange = D ALY Y ab\Q

@ ixed

T

CosX

OR. VSt SNSTEMS

DN inde p A\
= UMYl -3)
3505 1000
IR PN
2500
= 0.00%

% Cixed 'cosk
Y= 0.05%x + b

x
23 = 0.0%(\00QY) +h \ PLegaed in (\000n ,%))}
33 - x

A

L2 3%

I

o

Lot X be o Cixed cosk
Lek Y bL o A GOy AL LOS

0 \0093 4 X = 3) =) x = 33-1000y f)\:—zz»:(?gogémw
= a = V9. e lal )
@ 3BOOY ¥ K= Yu.50 | W0gy = 135 3
3500y + (32-\000y) = U450 ‘. Y500 9500 ;
WO g +3A4 = HUu.)o | y = 0.00%
3 4%? -3 )



UNIT 5: Relations and Functions Written Response

1. Determine the domain and range of the relation.

a) (—1,4),(-2,4),(—3,4) by 4,-1),(4,-2),(4,—-3)

Domain: %_'\,"3 l,?) 3 Domain: S Y -;)
Range: i L\ i Range: %.’\l -)"SS

2.  Write the mapping diagram in ordered pair notation.

a) (V=9 b) (\,0)
- (3., 1) I (2,0
[ (3,0 | — (3,0)

Domain Range Domain Range

3. Draw a mapping diagram for the ordered pair.

a) (1,2),(1,-2),(,0) by 2,1),(—2,1),(0,1)

5:4

4.  Determine the domain and range. (in\ e notA on)

a) ] b)

N~
TN

Domain: glx\’xems Domain: X’X\'\ L'XLS ‘7\&‘&2)

Range: !9 3 1 \jL -1 SQWJS Range: j\! \LyL) 9@125

iL\)\\j.w\ 0,\, ))3




Are the sets of ordered pairs functions?

a) 24),23),@2) y@

b) (4.2),(3,2),(2,2) @/n
0 2.4),4%2),1,3),3,1) @r’n

Apply the vertical line test to determine if the relation is a function.

a) _‘ b) j»

The table below defines a function.

a) Express this function using mapping notation.

b) Express this function using ordered pair notation.

o), (3,79, L0,9), (5,00, (F4,0), (-6 Y)

¢) Graph this function.

T 1
| |

12



8.  Graph the linear equations, and determine which are functions.

2) 3x+oy=3 b) 2x—4y=—7

Y y

| |
T /’)’
] jzdl
\ e
\ A
X = X
T K&
\ -
\
' ]
0 3 - = ,q. 4
PR 1y
.\,. -
ex Y =0 i PR TRt
- _ €b-+
4= -b%+§ b gz Ix*} _ a3
& [ 'b/. 4 2 Y &
9.  Atool rental store charges $20.00, plus $5.00 per hour, to rent a rototiller. ) %
‘ ™
a) Write a linear equation describing the b) Graph this relationship. ( I _,3
relationship between the rental cost and the <0 u - \ Y
number of hours the rototiller is used. 1 I
0 [
©0 : 4
— %0 T O O
(ot = b Xhours + Q0 Costy A
T N annpcass BN
rate oV V“KQ(\ COX & : I 0 Y
C\\(M\P)L . 30
vo H-HHHH-
- x _—
((t),SJC 30 & 13 2465 ¢ 3
Hours

¢) Determine the cost of renting the rototiller d) Ifthe cost was $37.50, how many hours was the
for 2.5 hours. rototiller used for?

C(£) =25+00 CCE) 2 5820
C(a5) = HLaR) +20 31 %0 = 5% 1—/3{@’
2 9% +30 —30 —0
- A = Y .
e \130 ;;.'/ [35W)

13

RETRY =35



10. Graph the non-linear equation, and determine if the relation is also a function by the vertical line test.

a) x=y b) x=y'—4
, ,
—4 ' ] | [
I | ] |
il | | : |t ‘:,
[ | A
| &L | *
/ | (T T TN - !
,__ | -‘“-"‘L"‘---o -
/ NhSg
/ |

x [ -B|-Vv[0 ] [ %[ x |5 10 |-3[-4][3|0 ]|
A0 v|2]3

y [=3|-93[-V |0 [ v] ]3] y |-} |-
YUNCTION. v NOT A VUNCTION X
C) - 4 d - ‘/J
Y=k ) 9= X \):\F;(
p y M y
[ n
\ |~ Ve
X !x
iE |
x -3~V o|l v Y] 3 x O[N] QA
ylAa (Yl |jofjt|Yla y o A3 |3
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11. For f{x) =—3x— 2, find:

a) f(3)

t(3) = 3 -2
- —A)
= =\

) flx)=3
RT3 -9
) V{
5= -3
57

% = Y-3

e) fla)

(Y= 3029

g) flx+h)

Plxen) = 73 (xen)-2

= -3%x -3\ )

-—

-

b ¢(-%)

C(-%) = -3(%) )
= 43
= 39

h) f(x)+f(h)

3% ) + (3W-?)

= =3 -3 -3n-0

3% 3w\

15



UNIT 6: SLOPE & LINEAR RELATIONY

MY NOTES AND THINGS TO REMEMBER...

16



UNIT 6: Slope & Linear Relations Multiple Choice

1.

=X

Use the following graph to answer question 2

=104

Which graph represents the retation x -5y +10=07?

A

. \) = _‘5 % & 3
5
h
104
:.4'(;-0_ U"U\'\ \‘JQ
s J c\oqe
o _H_‘-“‘"_‘"'--__
i % £ = *
STES
2. Theline y—2 =%(x 5) passes through which point on the graph?

o 0w

3

Pt (5,9)

\ 1
S\opr 3

17



Use 4 ruler to determine the slope of the roof shown below,

o
P
// = .
e 3 MOy
4 3.30m
~ .
T I T T T T T 1T T 1T T 1 h
o O s (T D A (e I S0 S5 B
LT T T T T T T T LT 11
ST R o T (o e e [ R (i S e e |
) MM AN RN O] I L D I N T O (0N |
o] e T o (S Y e e
I T T T T 1 -
T T T T T1 T
T 1T T T T T T B
171 | | | | ! : /=
| I 1 [T
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| | S| S S S ) P (O, A
) R VOO VO (TN U [URSLE VWY ) T
_r—_|_—'r 5 B0 ey By e [
- e e g e e spmery ey ey

Note: This diagram is drawn to scale.

N

)
' LI B}
Calculate the slope between the points (7, '—3.) and (4. 3).

B, =
c 2
D. 10

X
v
M™M= My VN, g@g)
Xy — ¥, W-7

A,%
OF
C.%
D.%

= L
-3

se | 2.y
— T — 0.
rue 3.) :‘5
0335
0.5
0.%
V3

— 0

A line with an undefined slope passes through the points (-2, 1) and (p, ¢). Which of the

following points could be (p, ¢)?

A. (1, 0) v
B. (0.1)
. (0. -2)
éé(é.m f
TN VLT NY) |
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6.

Determine the slope of the linear relation 34 Sy f =0.
A X \5 -3x =15

T

=)

o
|

|
wln e Ww W

Determine the slope-intercept equation of the line that is parallef to v @ —3 and passes
through the point (0, 5).
e (0. 3) %Y,

. y=—§x—3 @ M = % ﬁ\ (Q/t\))

s

A
B. y=-2x+5 @ NV, = wm (xx))
C. y=%x+3 N-5 = 2 (X‘O)
y=gx+5 )
5 \\] §
- 9
= 'S-X*‘S

Lines A and B are perpendicular and have the same x-intercept. The equation of line A
is x+2v—4 = 0. Determine the v-intercept of line B.

(1) SLOyT ov &° () X-\nv ov 8 (910)'-
@j A - 42”3 ) N \‘Y)» -4=9
C. 4 —'X‘\'\'\ ‘ X“')(Q) ’\’\:0
D. 8 _ :
Y~ ‘7‘+li ‘ e
'g/ = N X Z =
‘ e
y = A IR ‘
d \ XY
1

X-ink ot & = ¥4 (4,0)

ok B = )

@‘f@,\)ﬁ\"\@\\ ot & - @) N-\\7 o\ ¢ [1:0).
NN T el Yy=3x %
N-0 = 2(x-u) VIRIEN h
N = XY y=-%



10.

11.

The grid below may be used for rough work to answer question 9

¥

10—

; ¢ i e I
-0 = / I

A line has a slope of % and passes through the point (6. 0). Which of the following points must

also be on the line?

] N
Rewrite y = 5 6 in general form.

A. %—)!—6=0

B. x+5¥y-6=0

@.r—sy—fso:o __/S{j

D. 5x-5v—30=0

x5

0= x~53~§0

Given the equation Ax+By+C =0, which of the following conditions must be true for the graph
of the line to have a positive slope and a positive y-intercepl?

A>0,B>0,C>0
A>0,B<0.C>0
A>0,B>0,C<0
A>0,.B<0, C<0

X
o
W



12, Which of the following graphs represents a line that passes through (6. 4) and is

M + 3

) 2
perpendicular lo v = —%.\' kK

(KA}
2 /7 I .\\
—r \
st 3 T 5- N\
'/" \\
i 3
N
i : .-'/' : X it ' . e T 1
=If =3 VA1 10 ~N -5 3 NI )
/
/ )
.fjll |
£
-104 —10-
b
9( v D y
A h
10+ 104
.
e
~
. -~
5 \\ //’
\\\ //
} S —— 1 ’ X +- __.-/ Y
—10 -5 s - It —:s/ 5 10
"
54 e &4
—it o+

13.  Determine the slope-intercept form of the line that passes through the point !@ml is parallel 3 -4
to the line segment that joins A (1, —5) and B(=3. 1). \LS J J
@ = (D SWOrE T ey, ORRRTELC S SY
¢ voavns A LS) Yo-x, y-3 = =3 (k)
D. v \(j}ﬁ) \‘:Zg:,g\,\v\)
-3 €M) 3 +3
= b i Y= -3x-1
~d
=~ -3
™~ ok \]l\{ -=-3

I
v=3x413

B (=3,1)
S Y,

21

\Ll\’l

(-4,32)



14.  Which of the following statements are truc for 2y +3y =67
& =0
X The y- mtuu.pl is =2,

\K' The linc is parallel to y = 2x.

X+

Q/_\J‘_Thu range is al_l r_cal numbers. \/_ B &\s_,\m)_
A) IV onl . .
Qlundlfonly 1= PR “'3\)"k e %—\-%) =
2 ¥

uAli
[NS]

K ‘ The slope-intercept form ol'the line is ¥y =

C. Tand IV only AB) A =t '())(
D. Il and IV only Z j -
3 p = —IXYh
y = p) 7\) 3
\é /3K +)
15, A hot-dog stand owner makes a profit of $100 when he sells 90 hot dogs a day. He flas a Ioss

of $30 when he sells 25 hot dogs a day. Which linear relation represems his profit?

\ post
m'\\\(ﬁih\le,ix ¥=05r+55 o (20,10 O\ See. WRWh  LAVRXO R
v=1.08x+3.08 -
cor Q) = ©) (35,-30) s xwe Yo 80Tw (O ¢ ()

y=2x-80

Use the following graph to answer question 16

Amount of Gasoline Remaining vs. Distance Driven

60 -
50 _'_\
o ~
g = .
=] ™~
=]
S 0 \

- ™~

Ly ; | : \?Q\ f— 1
0 0 00 300 400 500 e \a s
Distance (km)

16.  The graph above shows the relationship between the amount of gasoline remaining in a 50 L tank
and the distance driven for a certain car.

What does the x-intercept represent in this situation?

fuel capacity of the gasoline tank

total distance travelled during a Iong trip
C. total distance driven until the car is out of gas
D. number of kilometres driven per litre of gasoline

22



(AB is parallel to CD)

17.  The slope of AB is —% . The slope of CD is ;—'4 Given AB || CD. determine the value of w
Answer as an integer,
2oy
P . . \v
PArallL\ D TQUAL Siofesy - 3 2™
B e '-___——____-__'
I
3
18.

Determine the equation of a line. in slope-intercept form, that passes through the
points (6, 1) and (-10. Y.
&| \" X) e

@ )-:_%_f+4 ® M = N2 7N, @ ,\{-\h = "\LX"/\\)
Xy ~X -\ - -\ .
Byl b (V= s B »
C. y=-2x+8 :_\’—0—‘0 09— = V(X 4)
D. y=-2x+13 =z 39 = =X+
x AT TN
=S %\’ = “—X—\'§-
L4 PR
Y= “-\a x +Y

19.  Which of the following lines have a negative slope?

K| v+3=0 1 \|_\;Z:

Q;_/' Ix+v=6
QI_[/ (v+2)=-4(x-5)

WO TONTAL 9 =0 X

A, Ilonly
B. III only - -
C. Iand I only AL )}7 ‘\’9 =b
D.) II and 11 only M
‘\j : '—} X X b
-y

\.\\+)) »—\_\LX_B)
\|] = -\\X—wo

N = ~L\x*\3
TN\T—J‘\ ‘/23



20. A waterslide descends 20 m over a horizontal distance of 50 m. What is the slope of

the waterslide? Answer, with a @m the nearest tenth.

M NSe

—

0™ run

7k —90
™S
0 = —o.y
tun

I

21.  In which quadrant do the graphs of x =—7 and y =2x+]1 intersect?

A. Quadrant I \ ==
Quadrant 11 O X :"
@ Quadrant 11 ! \I EL’T\ ( A\’ \/\ e

Quadrant IV

= = / f i
) o+ L

M7=

&
‘n‘;j\
&

24



22. Which of the following coordinates are intercepts of the linear relation 2x —3v+30 =07

@ (0. 10) @ r-ink (y=0):
X| (0.2 I%X -3 430 = 0
— 9¥x+30 =0
M | (-10.0)
dx = -30
@ 3.9 ==1\5

Land IV only

1T and 1T only m -‘sy +30=0

D, and IV ouly

Q;Imw ® y-int (x=0)

~3y +30 =0
-39y=-30
Yy=1o
Use the following graph to answer question 23
¥
_|II|
23. Which of the following equations describes the linear relation graphed above?
\| = - U 2
X y kv rd / | L ¥ + 4 ) ¥
@ )‘—8=—1:—(.\'+3) \/ i N
_ 3y = - y 3 /
( ]I'l_/ 4x+3v-12=0 ,(1\\; =19 + k[\i \?
A. ITonly _
B. IandIlonly “I\U39 -\3 = 0

" Tand IIT onty
D.; IT and 0T only

25



. . . . 2
24. Kelly explained her method for graphing the linear relation y = —<x+ 7 as follows;

Steps

I. | Place a dot on (he y-axis af positive 7. \/

II. | Move up two on the y-axis to positive 9. \/ " na 9(}\’(\\] | \/

III. | From the positive 9, move to the left three spots and place a dot thcre\. / & 3\(3?Q

IV. | Draw a line through the fjwo dots. \/

Where did Kelly make the first mistake in her explanation?

A. Stepl
B. Stepll

. Step III
D.\ There is no mistake.

x—67

[N

25, Which of the following relations could be produced by v =

2x-5y-30=0

(q:i%-(o %O
V')
checle oW

)
(’0\‘\,‘5___ J@) {(15‘./0)_ (m‘./—zi.(-s.\-/-x). (-10.\’:10'}} SA= +X-30
W

N Ry —‘Sy

= 0z bX*Sj -30

).‘

« : - X
10 -5 5 10
'\“‘ 1w 90\_—\"1 JE A. Tonly
\:{1; <\ II only
I Iand I only

1 =7 18 D. I IlandIII

26



UNIT 6: Slope & Linear Relations Written Response

1. Find the slope of the line containing each pair of points.

Y Yo Ny \ % \
a) (-2, 5y and (4, - 3) '\{/3 b) (6'—2)'and(— . )) /\0
f
=L A5 g ™ h Y L 3E) . a0 o
T RS ) L Yo, N -0 0
+~
wYy ¥ -5 X Y )
9] (3|, 1)|and( \é)) /:" d) (a‘,—b|) and (— b,;,)) “l'
»
AN Pl T A ™= TN adD) | ooxb
X)‘*x' - ’3 ~==f 7Ky —b-Q ~b-0

= c\./-;. 1_1

TR ()

*
X, ¥ o ¢
e) (—?:,0)'and(—3,4) It Yned f) (4 —1)and(—2 —\,1) 0
M= Y-y, o M0 oy =M L ) | o PN
— Y X, — -3 - —b
X -, %(_(?S) » X, Y-\
= Ung e ned
2.  Determine the slope.
2 L LA 7 b ’l‘:) 1
i N 4
o | ha
7—"6 X \‘ X
L M= (s _ b A
ron b 3 i -G

27



S\ope !

Determine the rate of change.

2) Car Repairs b)
|
4000 |- =] -—7-%
8 2000 — T Q‘f
W
’ | i
0 I 2 3 4 "\.35
Years
1\ DGl G
e ?203 - 1793 0% by
XYdo 5 BY_) - SQ”\(

George rents a motor scooter for three hours to
travel around Crescent Beach. It cost him
$36.00 for travelling 42 km.

a) Determine George’s average speed in km/h.

distan

SpeeA =

Xy MQ
LR

AN

= v ey

b) Determine the rental rate in dollars per hour.

$ - 5600 _ FTT
R N

¢) Determine the rental rate in cents per km.
q
INY

26.00 X\ 00O

= ll \DOQ ﬁ/}\_(

3

Weight Loss

U

Bt

200

150

el

150

100

50

M s
TN

—P_LS_O = _ \%,"‘(S po\l:\dxg
O

Marelee rented a stall at a craft market for four
hours at a cost of $120. She sold $600 worth of

pottery.
a) Determine her rental cost per hour.

Y
I'\s

b) Determine her average sales per hour.

L00 T \rg
\,\ S—

e

_.6‘:__

Sa\LS /ne SO\ \

¢

¢) Determine her average profit per hour.

\ PIQV\& LOO-120
| KV 4
= 5o
Y

“lwosy, |

28



6.  Determine the slope.

y y y
a) | 2 b) nth | 0)
_,_ ‘}'( { ] 3 I_ B T
e ML \ T '[ +i5-
b Y T X -f'"j" = x
== \ |
\
FITLIITTT \
M= 4 mz D = L
3 - 5
y y y
d) .- e) [TIT1 ) |
==+ x x | x
l} |
|
(N -
=3 in=0 MW= und e ned
Yy MV
7.  Find the number #, so that the line passing through 8.  The line through the point (8, y) and (2, — 3) has
the point (— 3, 5) and (— 4, ») has slope 3. a slope parallel to a line with x-intercept 3 and
T Xy, y-intercept — 1. Determine y. _
= Yo Mo
M~ = = = 3 = : P
AT O o= Ny -, YT =3 5 (3,0)
Xy —x,y Xy =X, AR (9,—1)
Yy
37 N5 m =\ -9
B ‘*@ﬂ 0 -3
™= =) \
S S — = = (e quope
3= =2 37,3 o)
. . D =
EX':,_B O B Nty i ,
R = 33)
X Y _
Y%= -3 \ b=-A-39
L5 5= 30 LR,
N 3% — 7!’
= 5 39




9.  Find the yalug, of ¢ so lj}at the line through the
points (— 2, —4) and (- [ —:'1’ is parallel to the
line through the points ((f’,‘— 2)and (3, ¢).

OENRPES @ m= BESAY
P Xy-x
Xy =X, '

+ 3=
= DY) <)
3~6
—\ €B)) ~_ __
=B = S ¢t
N 1 3
- “C\_-” Ca 2
E - §

/S . ——
PACAN (\ppr =3 C=n|

11.  Find the vgxillue of €30 %]mt the line through the
points (0, 3) and (—J, isp rglle\]}to the line
through the points (c. 1)'and (- 2, 3).

O~ = -\ CESA R
{) =Xy AP
— -0 —2-C
-\ V7 =3¢
-3 —¥-3cz)
*26{ +p
Poratioy S\Ope =3 —=(=17
|¢= _2 \
s 3
‘.__,___._-—-—-"'_
12. Find the slope and y-intercept.
8) GBS siope /5
RZ 2 S 3
g\j: -9 x+3 y-intercept ___ / 5
_35 -5
= \.,‘1
Y= 57
13.  Write the equation in slope-intercept form.

2) 6x;gz 3*9
e

Y= bx-3

10. Find the valug of ¢ so that the line through the
points (— 2\, -3 and (- f, ~17is perpendoicular to
the line through the points {'gf— %5 and (3, ¢).2

O RT @ =YY
Y\):X| X =X
= — e 5 =
) Lo
3 xS
\ 3= 3(4))
Perp S\oge = =L 3= 3¢y
3 AR 4
~ TJ( _—_‘)!(: __l‘

12. Find the value ol‘c\rso that the line through the
points (0. 3)'and (=1, 0 ;is _erpenéicu\lfir to the
line through the points (¢, 1)'and (= 2, 3).

® AN \|3‘§|| @ ™= ¥a N
Y\)‘X\ \(Q—X\
=z o0-3 1 _ 3 -
0 - 3 - 30
—\—0 —d-C
= 3 - L
B ~\ 3 X":;"L
- g b = }/—*(_
PeCp. Stoge -9 /N
! <=7
3
slope =

b) ;/+y:—2
BN '-VJY

Y= -5%-29

y-intercept e

b) 24 Sy =7
- N -

9= dxa ]
PR

S S
Y 'gy‘ Y



14.  Write the slope-intercept equation in general form.

a) y———x+4 ) \(3

) &3
oy K

ax+33-\;: 0

b) [y =—3x+2 ) Y5

y - =1N7% i )
' :/7 / v
T YY) -_f

IHSX+bhy -3z 0

15.  Write the point-slope equation in slope-intercept form.

a)(y+1———(x—4> ) ¥3

3y £ 3= -3(x-u)

34 4 _{-;:‘_)X +<&
=3 -3
.,9: ‘_)X *E
& 3 3

<~z R4y

16.  Write the :)’oint-slope equation in general form.
a(r+1=-36-9)x3
3y 3T A%-Y)

RN A |

X -§
IxX 3} 9-5= 0
17. Write the equation of each line in general form.

¢ Y
a) (0,-3), m=-4

AR IS NQ TR O
¥+¥3 = Y(x-0)

R

\'\\(%3-\-3:0

o(r-3=-ux+3) ) X3

Jy-d = —\9(\(*—1)

%\’J‘ “\I% - L

%9 =-0x -y
: by "3'

Yy T —Ux-Y3

2

w(r-2--1(x+3) ) ¥3
3y-23= -\ (x *"a)

3y- 9 = - \axr-
*\;’Xf'g *W/\:*{

\3\&*39 +4=0
Xl\|| 1
b) 2,0), m= -3

NN o m(x-x)
N-0 = ~.‘_.$(x~))
(\,.- —_\én%) ¥3
w XY
X4 3y-3 =0

"
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18.

NN

Determine the equation in: general form, slope-intercept form and point-slope form.

y
a) LIITT1T1]
N I -
T N& -
(0.3
e
@ general form . LS y v \= 0

@ slope-intercept form \\ = = %x-\

® point-slope form N4 = - | (% ’5)

= onlx -y,) ‘ ﬁ #Z

N3 = -1 (x=2) B R

t}r-\le; ‘

19.

20.

N
/

\ Xayg+t = 0 (Y

= ~1x -\ @) '

Determine the equation of the graph.
y

a)

Y O SNX
® -2

2

y=-3

b) A)'/
1 / 1 Nz -3'— = 5
=
_‘- +x
EENYA |
’
Q)general form 0 = 3% Y+
@ slope-intercept form \5 = %‘f\‘\’\
@ point-slope form hh 3= %(X+\)
AR TR CEL N SR
NEY S 3wy (3 0 Y

b)

\\’\] = 3Ix -\»3
9?%X+\Cﬁ

Y

x=d

Write the equation of the line with the given characteristics.

a) vertical, passes through (—2)5)
K= -9
¢) vertical, passes through (a,\b)

K=ntn

Q= 3Ix-y il

KOS ank
> 7

b) horizontal, passes through (— 2@

Y=

d) horizontal, passes through (a@)

y=b

32
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21. For each pair of equations, determine whether the lines are parallel, perpendicular or neither parallel nor

perpendicular.
a)®3.\' +2y=7 b)®5x —2y=4 P
@4x+6y=2 NE\T\—\EK 6le+10y=3 EKPEND\(\,LP(L

. B S )9 G Y +\0 =3
Qié(ray _ i%x © ,L,Z(H"’ »VEW { —5, y& —Hx
7}3*""»( *t\a Vgg-vl\xd

2
L L
By + 2 < \3( X9 Ny 4 3
Yo\3I" 2 = [F2\x 4 L ) Y [ 2+ 2
S A3 1@, o0 C’

C)G,V 2%—3 3 O —y=2 ‘h:.-‘—P—/——‘\\sl 10)
)2x +y = Vox —2y =12 ARALL
G NE\T\_\EY\ o EL
\ = ) =
09ix-3 Q@ yry=-3 J g (D bx-dg =)
9 (ox Lu=s S
L.‘;': <X X+
N —IK -3 I 5 5 £Y = ~bx )
~ 29 .Ta :i)
\5_\3'}’- -3 _
v \:, - g ~‘
22. Write the equation of the line passing through the given set of points in §eNL( A\ Corm .
% % X Y BN Xy N
a) (=3,1) and (—4,—6) b) (-2,-3) and (-3,- D
@“\: ARRRN _ ~b"\ - -3 ] ® Mz My Yy o =\$3 )
X~ X, -ud?) | X, =%, 5N -5
Y

- e (y-
OIENHETNTE O 7y = ey

y-1 T Hx+3) (943= -2 (xn3) ) »3
DO AN 314 = -3(x )
Loy 2o
yras -Ix-
0= :"X~3+}a Fax + V{:Z
M +3y +3 =0

33



23. Find the slopes of lines parallel and perpendicular to the following equations.

? A
a) 2(— 4y =—6 m f_u’ b) x =3y +g m _/i
A% -3 -3
X 1t —_U‘/?J ; m, '3
—H T 3% _’E*'é_:_Z“)
4 Y 33
-3 Tliw -2
() 3 "3
s S
=Y . ‘5
Y

24. Find the equation of the line that passes through the given point and is parallel to the given line. in general form

‘M\I \ﬁ \h
a) P(-2, 4) 2x—3y=175 b) P(4 -1), dx+7y=-2
N o o _ Vind m MUY +edy = -)
OV\(\(}\ [\ AN __/ ..__:,}‘ ?3\[ @ __‘é \J ’\-\y\
L z\j : ":\_X—Q
: 39 = -3x45 T3
w\\\ < —g \) N 2 1‘_'\-__ _ l 9 = @ _’)_ "\“ :_\}i

-/
@ V™9 = (Y\h(_\() ? /‘ )X*L\*\) \@\)‘*'j‘:q\(x_\m \'-',*:‘\)'_‘i :J;Ll.;u-tiio
(3-4=2 (x03) ) / 3 (w\*—'ﬂ,(x-q))yq/ __3_*__*_;____&___:
2Y-12 = 3« ) E I - %wﬂ\ Ty T (x4 - LA [

25. Find the equation of the line that passes through the given point and is perpendicular to the given hne in slope-intercept

form.
Xe v, Xy Yy
a) P(—2,4);, 2x—3y=5 b) P@4,~1); dx+Ty=—2
{ S N ¢ dMYb
Q 4= %X—% (e Yya) Oy 3 g e )
_ MmN, = T
My = ﬁ% L=y
@ -9, = mlx-x
& 379 = (3*\l- T ( ‘)
-~ T _\_’\ N
(y-u=-3 \HB)) ) 1 q - “ !
d
J 1y vy = 3 (x-y)




26. Determine the equation of a line, in general form which is parallel to the line and which goes through the

given point.

Y-y, = mlx-x,)
Y- = a(x,s\

-¥Y T Ix-10
‘g J -y

[ 0= 3x—y-%]

LT y Xy Yy y
a) (52) [ T b) (=3,4) [
m=\ ! H NP}
=~ = -
=3 x SEmil )
& T _ 2
| My o= =L - My = 5
N 3
1 ol
\j'\T:“‘\(Y“&.) ‘j“\),:N\(X~K,)
Y-9 =\ [y X? ( -4 T 2 (x43) )x3
( L (x 5) 9 3( )
dy-u = - (x5) 39-13 = Y (x +3)
39 q R I-VY T Ix+b
X - VZ }I *349 ) “3y D
ix*b\g-—c‘ Q[ ‘O AX — %3’(1%‘
27. Determine the equation of a line, in general form which is perpendicular to the Tine and which goes through
the given point.
%y, y X Y y
a) (5,2) . b) (=3,4) [ - )
| AN - \ "\- —
N = 3
= -3 3 P
ix * '\'\l =. -~_._3
| oMy 9 ) 9
| "l
[ |

(\,)’L\: —% [x’fﬁ)) %9

B“LY S

*Sx rq

: ~3(¥+3)

i

3xcayi=o]
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UNIT 7: CYSTEMS OF EQUATIONS

MY NOTES AND THINGS TO REMEMBER...

36



UNIT 7: Systems of Linear Equations Multiple Choice

1. Solve for ¥ in the following system of equations:

( x—.\’=—1)x~3
3re5v=21 = _?(J' 3y =3
X

.2
B) 13 9 s
c 9 *i' ¥ =24
D. 12 ¢ [
2. Which of the following systems of linear equations has a solution of (-3, 4)?

2x—-3y=6

X {0
X
4

2x-3y=6 X
y=3x+13

v=3x-13

2x+3y=6 Vv

{
{2x+3y=6
{

-P-3Wz=267 -b-2-h

R)a3W 2 67 —brl)z b2
H23(3)32 3 4 -a-3>

y=3x+13 \-\:3‘._5)_\\‘5? T \\:~Q""37_
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Two planes have a cruising speed of 570 km/h without wind. The first plane flies for 12 hours
against a constant headwind. The second plane flies for 10 hours in the opposite direction with
the same wind (a tailwind). The second plane flies 370 km less than the first plane.

Determine two equations that could be used to solve for the wind speed, w, and the distance
travelled by the first plane, d.

@ (570-w)(12)=d C‘ 50+ = &\30 =) \D(S:‘D O =d~310

(570+w)(10) = d - 370 -
Y HI0-w = A
B. (570-w)(12)=d O E v D N(RI0 -W) =d

(570 +w)(10) = d + 370

C.  (570+w)(12)=
(570 - w)(10) = d =370

D. (570+w)(12)=d
(570-w)(10) = d +370

How many solutions does this system of equations have?

y=3x4+7

Caes PRARALLEL =) NO oL
(30\"\2 o i‘ A e ((‘Qi\-\— b)

no solulion

one solution

an infinite number of solutions
cannol be determined without solving

onwf)

Solve for x:
Ix+dy=-16 :'j 3)( Yy — _ 'Hj
x=:{ X - V(’
—uy Al § =%
—— e
Y
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6. A package of 12 hex bolts and 10 anchor bolts weighs 7 pounds. A sccond package of
5 hex bolts and 15 anchor bolts weighs 4 pounds. How much does a single hex bolt weigh?
Answer in pounds to one decimal place.

LAL W= g of Rex holks

Lek A 15 oF anchor LO\S

Myw + 100 = 3V X3
Qlgns tsa=y)xy =

@\)\\ r{on= 3
(0.5) tloa < 3 —
b+On = J N S\note weX bopiy |

loq = We = |
a = \ L 6\\3 O N POdpd\ﬁ}j
T A A, Bl i | |
A<*0-)\
7. Joey bought & books. Some books cost $12 each the rest cost $18 each. He spent a total of $108.
Which of the following systems of linear equations could represent the given situation?
A. x+v=8 : R =
C) : S % or 1) booky, & y =3
12x+18y =108 @
\)-3-“ o% %\% LOoKS X + \%3 = \0O%
B. x+v=108
12v+18y=8

C. x+12v=8§
x+18y=108

D. [2x+y=28
x+18y=108

38



8. Kiminvested a total of $1500 between two bonds. One bond earned 8% per annum and the other

bond earned 10% per annum. In one vear, Kim earned $132 on her invesiments. How much did
she invest in the bond that earned 10%:?

() s Lk X be v aoury

B. $750
5 I00 Lte g s Ave aeQunt
D4y =500 D X=1500-y

-

QO0x~ + 0\0y= \3)

@ C.0%x~ o.\o\) - {32

\39

A

°-0% 1500 - y) + 0.\0y

K

132

}/)(O/’f 009y = \32
X0 S =19

O,Oé =\
~02 0.0?

Y= 6Q0

40



UNIT 7: Systems of Linear Equations Written Response

1.  Solve by graphing. \),: )
\ ¥ 0 \jf}’:;
a) 3x—2y=\0 I I I b) Yix=-2 ' \ [
@—x+4y=—\1 : // @Sx—_\-=—8 i;-\ '.\
| —t 4 C/ 3+X:\} \\\ —
| - - — x X
O3%-29 =10 A NRSREVEN Ny
_)\J = —3x +\Q 5 = Z;‘:mq i \ |
3 ANERED =Y L
ys Sk=b | e LU
- ) @ 3x-y=-Y R
O“U‘l\) =-\9 (3/-5 \ —gz -3%x-\Y
Yy x <\ yz =3x+y
b: A
) Y R y 0 y
)~ 5x +4y =12 N d) 3x+9y=18 | | |
@%X“‘\\, =30 _ 2x + 6y =—24 ‘Fh—-a..‘_“_‘
1 \\:‘ ®3X*~O\3: % ) =
@S)Uthw . ZA Nyz Iney 5 15
Ug=-5%+ 1) N v ion S
3: *’i X 3 - L1111 S
G | ) (u - @Mw\,:_w
A%y =30 M, )| . PR ALLEL
“Uy = -3x 430 Y=o -
y< Ex -9 N L NNV
® {
2.  The solution of the system {@ﬁxx __|_ %}; :: % 8} is (—)21, ;). Find 4 and B.
O Ax-5y =) (9 —Ax + By=-X
Alwy 50y =) SRR =]
= F\ . // L
RBT Ny 0g- g
}“‘ = 2 / H-2) 438 =%
—/ BARIR IR b ¢ 41
‘__A_:_'QJ 3B =20

| g =\0)



31 Solve by the elimination method.

© |
a)(3x+y=6)X"\ R ' b) (3x— =-7) %3 - ~
®3x+2y=3 ‘-> % Y '°: 2'x+§y=10 > \x }(j =&
inj =

Xfay::g' X =10
O§X+\)K\ Y= @ 3+ -3 l\x_:_ﬁ:;*
X+ < o N =)
3X:~3 S(“)'\J:—¥

) ey 2‘\):\33
py
(=, 2) .

| (1, u)

®L_“""—--—-—-.__

o (2x-3y=-4) X3

_ _ d) 2x+03y=0
—4x+ 6y =—4 =) \XK ZJ“K 16;)9( 2y =13
X

1-\\{: 2

@(O-JX Y03y :0)‘}0

o =-1) X>
N0 Sourmige] [ Y

U’ﬁ\ra\\\e\ \(\nQS) 0(3‘( ~Jy \ LE

D bx Uy = 3

(BX'\’?’ O)x~3
bx-yy =




e)(—x+ y—l)xs = L\\({'?)v =% | i)®3x—4y=6
) (3)2(2y +3) = 3« D Wyay = 3x
( \ @%x't\\,—b
Hx 1’3 =5\ X3 % B
=) Oxtyy=lo OL\ D% r4§= -
(3x - 39 =% )3 Ax 4 by = TR ’} "2 =k S

N i 13Fx = 34
@H‘H?,\,:s TT——x ) ‘}\‘°
v l Y ¥ ‘
L\())* 39 =5 \) -
¥43y:3 X 0=0 V
39: ‘3 ‘H_( ), ‘”\) I'r ’\
- T S0 uTiong |
} (Samg ting
@ 0 )
g) x—2y=16 h) 1.5x—02y =14

@y+3=3 0.4x + 17y = 89
9y Ol 5x-03y-1q) *0
_ | Y )

4 '| ISX - 34 - 1yp
_> 3% 4y = - '. ) i
,3\,,/f b4 93
'. O (oux s 1y = §q) ¥ 'O

‘21-99 W) %3 . Hty= 13 | Hx+ 130y =R40
= = — % : ' / .
vy = -3 By 1y =3 | Gy =o )8
T : fi\ v13 \ T
2 ~Sy=ys | 70y TR0 )3
@ \j’rS: 3% | L
Yy=-9 | Y,
43 = 3y B I S
VX 3 YR|E _
. | X 3350y = \33%0
S '( f I55%y = 390
S = __) __q) —
y / I \3—~
o= | () 5x_ {93 "

\5¥ =D = Yp ‘



4. Solve by the substitution method.
©,

a) y=2x+7
é}x+2y=—6
@ %3 axe3) =-t
T U\ =~

HYXA\M =
5x=-230
\(:»\.'
@9?3\0('-]
Y= 3-U)+3 lﬁ(_\_c‘)_’.}
e —Y"'q e
9= -1
c)(:gﬁx—3y=4
a)_v+2x=0
@kj+3\(:0
Y==9x

\

Oonay=y
bx-33=3x) =\
BY+(°X:\_‘

\'D\L:L‘
h -
] 3

@ \):_QX
y =-3(3)
= LR

3 (L -2\
[\ 3¢ %j‘

’ b) 2x=3y—13

@—y=—2x—7

€ H:i}‘_‘?

| R ARE ﬁ\ur}
© 3x=34-13 y=a(-N+13

9% T 3(Ixx?) '\5/ Yy=-4+]

S INT bx41-\3 / Y= 3

~I% /AR P

\\(‘)'3)

©Iux 4y | —ﬁxﬁ_l

— = -J
0 Y

d) —6x =3y+12
J4=2x—y

W=9x~y

® bXx = 33+\D
bx= 33y -u) +d
bx = (,)(-_/)_V()

bx = b X
O=Z O
{ _QQ_SOLOT\ONg\
(SaN\Q \‘NL)
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e)~2x — 3y =x
Ozzx+y4y—6y @1 8 1
6y =8
\ . TR
ThyHY, Obn=392)% 3 =y -y
- -— ) i Y
X~y =0 O(@,\}* ¢ ) D YT U¥x 6
X:),

G —ae Myse ® $x :(, -\ 7= e T
I0yg) vuy= g %i_ :‘Kx b)-y Y () e
— | - ) ‘_k |

‘-l\;’r‘w:‘o | ~HYx ““%‘; ’ = =6
/
0 :() X i; ~4YO0x = -\ 0 / Y = b
|'I X :1_9 =
[No SO ac | e
_HDbUﬂoM~3[ !
MO || [SID)
(P“\m\\Q\ \‘mqs) 0
g)®y‘§+§ h)@)2x+y=a
O3x_l=_ x—2y=b
O 12 (D 3‘(‘\’\) T a
) _ X .
(9= '%jijM:ém‘s Y= TIx+a
C-\ 3% -y W\ ¥ @ K79=h
) = = — X34z ) (- -
N w9 9 X 23 (=xra) =y,
K +L‘X‘)O\ =b




5. Jerry has 150 m of fencing to enclose a rectangular
chicken pen. If the length of the pen is 15 m less
than twice the width, find the area of the chicken

6. Trudene invests part of her savings of $150000 in
mutual funds that average 8% interest annually.
The remainder is invested in bonds that average
7% interest annually. The combined interest
earned the first year is $11 500. How much
money was invested in each account?

LeX 4 be & invesxep o T
Lk g be 3 ieueSted B B2

O g= 150000 = y= 50 0N-X

@ 0.0¥x + 0.07y = W50
(©0.0%% 0.0y = 1500

0.0} X + 0.0 B0 D - R) =usen

O.08X + 10%0 -0 07 x = WSo0

= 1000
X =\0n 090 o
® y= 150 305 - i
4 T150 000 — 109 a0
¥ =55 00

0.0\ x

Ii‘\\J_".i' tg ok

NS ESYCy w BT "'
And $50 oy

17

7. Aboat travelled 60 km downstream in four hours and made the return trip in five hours. Find the speed of the boat in !

pen.
L W\
|
S O 3 ¥ O =150
v -
AT lengh (Y o15) £ w150
Loy w- WidAWn
" “w-30 ¥ 30 =\%0
A= 0 xwy bw ~30 =50
T 4%x30 bw < \RQ
W= 3Q
= |Rop?) © =325
L=3030)-1%
L~ o0y
L= yy
still water.
Ler 0 = Spead OF Lok
Lo ¢ = Speed OF curcony
O vac= o D bro:s (5
\_\
@v-cs ¥ ooy
bo]
\07: \9
b4c = \)
2% = 33
=135

—_—
The dfeod of Qng |

boal s \3 % ‘U‘\/\\(

e — — - —
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8. The perimeter of a basketball court is 288 ft, and the
length of the court is 44 ft longer than its width.
What are the dimensions of a basketball court?

4 = G\ 30 ¥ dwy = IRY
of ’)
\ O 2:-uuru

L
et (= \Qi\t)’(\,\
L2t w2 widdy,

W+ 3= 3%
MUY v w) +3w = XY

%% 0w a3 dw - DR

Hwy = 309
W =%0
ONE UMY+ W
L= uy + 50
Q:’,O\Q
r"'___——'__'—-——-.__,___________________

ThLengti 1y 0% and |

L N N\ CN\N S SOV(J(

x

9. The sum of the digits of a two-digit number is 12.
The number formed by reversing the digits is 36
more than the original number. Find the original
number.

Lt Tra two Kok numyor
Ve LQ -\9

» )
W(\S OMS
P [ACRTS

Q KrYy =) D y- N -x

>

® WOy +x = 2 4(()1*9)
\Q\)] ?‘o*r‘O)

O‘(\)“X)‘ Ku-‘ix

03 P ORRIRLY

b

oy
lOK:g “\%K
-3 /{i
7}):\%7(
__ Y4
@" 9: 19 ~x
Y-y
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UNIT 8: ARITHMETIC SEQUENCES & SERIES

MY NOTES AND THINGS TO REMEMBER...
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UNIT 8: Arithmetic Sequences & Series Written Response

1. Determine the 25th term of the arithmetic sequence 2. Determine the number of terms in the arithmetic
sequence 5,1,—3,...,—111.

—2,—8,—14,-20,...
t,=—3 Xem X InM) 4 =Y I'no b, » (t\——\\a\
d=—¢ Y5 = -3+ (357 (-) 4= —\Y W= 5 (a-)(-)
N=29 - _ - .

5 _2 :_gJ()q(-(o) nN= 2 W= D —Unay
95 -1 = ) ‘\LlL\ J(i\:‘\\\ ‘\\\ ‘7 Un
i - \\\(7 -
~-\30 = —7%\
":T_‘ -y
LS 30!
3. An auditorium has eight seats in the first row. Each 4. Determine the sum of the arithmetic series
541+(=3)+--+(—111).

subsequent row has four more seats than the previous

row. How many seats are in the 28th row? '\c‘ 5 @ Ying
\: BN N~
i’\\ali,--- d=- -y Y|\:’ﬁ+(|\'\\c\
_ o=~ - = 5+ (n-V (Y
‘\‘l - % 4\,'\:{—\4 &(\’\\ d s \\ 5 (.'\ (, )
X =i | o n= 7 =T B -Yar Y
._\.- 2% g = ¥+ WY A) 4) —\\\ = A-\Yn
= = L+ AW ’\‘)0: _L\’\
3 -9 K i d 1(._ \ %O
R T N =
= %4 \0
‘i '% @ Sl\: n

i’(us: \\‘o__\_ ' 5 Lan )
- 530 = 3‘;’ (%)
15 (\ob) = [-\54 \

6. Find the sum of all mu1t1ples o 6 between 100 and

5. Find the sum of the first 30 terms of the series
1000.

10 + 14 + 18 + ---.
FEWO St D0 a)g] 2P AE W 00
["\\__;\0 I R T T SN ®:i:t'\; (n-\ )
o -5 (e L) SNEAN aay =0y, (\\Yo)

S5 (204 W) N A96= 10 + bab
=5l \36) “;\Qbozca\b\o;af\
BT 0w | @ o= 2 (xyaxe) NS \54%

= ‘5" (\0Y 2%%6) = A5( 00\%)







